< 00, > (M)

<op/p. > (70)

<o @> (rad)
o
=

o
[N

=

1 1 A

i

-1 0 1 2
TP n (PCA to beamline

3
)

TTTT]x
-
(=]

&

.......................

-1 0 1 2 3
TP n (PCA to beamline)

—=— DQM_mkFit_baseline_lowPT

—— DQM_mkFit_baseline6iter_lowPT

o

o
I

o
LIy
-

-1 0 1 2

3

TP n (PCA to beamline)

e

— e [
=
r— . L
—— L

5 L

TP n (PCA to beamline)

<od,> (um)

..............................................

...............................................

...............................................

-1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


